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QUESTION 1

Divide: 

A. 7/128 

B. 13 

C. 3 

D. 14 

Correct Answer: D 

 

QUESTION 2

Sam is now 5 times as old as his son Paul. Four years ago, the product of their ages was 52. Find their present ages. 

A. Sam: 30 years; Paul: 6 years 

B. Sam: 15 years; Paul: 2 years 

C. Sam: 5 years; Paul: 30 years 

D. Sam: 60 years; Paul: 30 years 

Correct Answer: A 

 

QUESTION 3
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Referring to the graphic, what is the meaning of this statement? "Median household income was roughly $51,000." 

A. The average of all the reported household incomes was $51,000. 

B. Most of the households had an income of $51,000. 

C. Half of the households reported an income below this level and half reported an income above this level. 

D. The average household income was $51,000 less than the maximum household income. 

Correct Answer: C 

 

QUESTION 4

Evaluate 0.30 - 0.03. 

A. 0.27 

B. 2.7 

C. 0.3 

D. 0.027 

Correct Answer: A 
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QUESTION 5

What is the exact value of 0.4 × 3.5? 

A. 13.5 

B. 0.14 

C. 1.4 

D. 14 

Correct Answer: C 
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